February 17, 2003

I just spent 2 hours trying to get my code to work with absolutely no success.  I have tried several different things but was unable to work out the checks with the stopped train.  I decided to output the next photocells of each of the trains to the output file.  When I checked to see what each of the next photocells were, there would sometimes be a -1 for one or the other trains.  I’m not exactly sure what this means.  I would think that when the functions to find the next photocell on either direction of the track are called, there would be a positive integer indicating the photocells in either direction.  Even more confusing was that the photocells that were sometimes listed were not the next photocells for the train.  Other times, they were not even a possible combination for the next photocells.  At this point I am thoroughly confused, but will be meeting with Dr. Pankratz tomorrow at 1.

